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0. eimeEsy 20,000,000 |@17& 2SSl 20,000,008 X 14 = 20,000,000
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20143 H S

gl 2014E 3& 1€

SH - 20158 28 282 A

T M8l FIIBEHU L SEHAMA

K& (&t &)
ot =
Off 4+2y MEZHN
|8 | 5 |ASs HAS
8. SIRINEEHIZ 20,000,000 (SR MLEHIZ 20,000,0008 X 14 = 20,000,000
A, OISt S ST/ 730,000,000 |Al®al2H| 700,000,0008 X 14l = 700,000,000
JIEt HESTSSXS 30,000,0008 X 14 = 30,000,000
(3) 4BEEXRAY 602,000,000
I BEEsE syl 30,000,000 |at2st8=4| 30,000,0008 X 14 = 30,000,000
L, XATARSESS 572,000,000 |SUX A A ERSEY| 1,300,0008 X 300AH = 390,000,000
HAMATHAAERASEH| 2,600,0008 X 702 = 182,000,000
(4) JIEFXI&HI 20,000,000
Jt. JIERXI & 20,000,000 |?IEFXIRH! 20,000,0008 X 1A = 20,000,000
4) LEtALHIBSRENH 210,000,000
(1) yBrzeidl 210,000,000
Jb. o1 30,000,000 |23l 30,000,000 X 14 = 30,000,000
Lt. Bt AY] 180,000,000 | EtX=Hl 30,000,0008 X & = 30,000,000
JIZEMEX 150,000,0008 X Al = 150,000,000
5) S AL S RENY 15,000,000
. dMIEsEEA -
Lt. JIEl2E2H & 15,000,000 |?IEI2H2/HIE 15,000,000& X 14! = 15,000,000

6)

SUIHEESEHESREN

4,800,000,000
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20143 HIAE 13 FIOIEE0 & SESAA

SJ| 2014 38 12 = - 20154 28 282 DA
AE (e91:8)

i

Jo

Ofl &2 SHEZ2H

13
00

= | KS RIS

b gusAdE= 4,800,000,000 [223A®EZ 4,800,000,0008 X 14 = 4,800,000,000

2. ENESCZ0E B3R 8,100,000, 000

12

1) SEXRMRE -

(1) 212843 -

(2) FNENSENNFHEXE -

(3) ENSEXNAE -

(4) JIEtS= XA AE XX E -

2) FRENMHASNE 8,000, 000,000

(1) EXNAHE -

(2) HEHS -

(3) *HEHS -

(4) JNAHDIHS 7,800,000,000 |21H121% #S 7,800,000,0008 X 14} = 7,800,000,000

(5) JIHIEHNE 200,000,000 [&7IHIZ HS 200,000,0008 X 14 = 200,000,000

(6) HSHRHS -

(7) AL SUXHMHS -

(8) JIEREXAMFHS -

3) RENMHSNE 100,000,000

(1) NAMAHHS 100,000,000 |2 KAHAX HS 100,000,0008 X 14 = 100,000, 000
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20143 Al A

T Mg FOIEE04 SEE

D1 20148 38 12 2H - 20154 28 282 JIAl

S Al A

N -

i3]
0

Jo

A= A

M=

0l 4 o4

arEZA

(2) NLHIHS

(3) JIEtREXAHS

4) JIEHHIRSAHMXE

(1} 2RI SHENE

(2) AHIISHEX=E

(3) FEDISHEYXNE

(4) JIEDISREXE

(5) EE=3X&E

(6) JIEIBIRSX&HA

3

3.

X

SEHSOECIE BHE3FEY

300,000,000

1) 248

300,000,000

(1) 2 E32Z

W H

(2) EES0HEE

SR

300,000,000

H7d E&z K= 2,000,0008 X 1508 =

300,000,000

(3) JIEtHI RS2

s

2) Jlg3dg

(1) #2222

Jge A=

28,561,760,504
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